[Total No. of Pages : 7

BSMAT - S401
B.Sc. DEGREE EXAMINATION, SEPTEMBER - 2021
(Fourth Scemester) (CBCS Pattern)
MATHEMATICS
Real Analysis
(w.e.f. 2015-16 Admitted Batch)

Time : 3 Hours Max. Marks : 75

SECTION - A (5 x 5 = 25)

Answer any Five of the following

1. Show that lim%/n =1.
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‘ SECTION - A (5 x5=25)
Answer any five of the following.

: . sinn
1. Using Sandwich theorem, prove that lim = {J.

n—ao n
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H—»o0 n

= () & 5THosed.

2. Ifthesequence {S } is convergent. then prove that {S.}
is a Cauchy Sequence.
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15. State and prove Lagrange’s mean val uc theorem.
Bmod 2005 Sy epord) 55900 dirbosiod
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16, Find “C’ of Cauchy’s mean - value theorem for
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3. o _
}l‘;ﬂx} Lthcnshowthat |lm]f(x”=f is ﬂ]ecan‘,crqe .
- ) 7. Prove that f(x) = x* is integrable on [0, a] an

true? Justify your answer.
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(5 x 10 = 50)
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9. a) State and prove Sandwich theorem of squeeze
theorem.
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